
Name: due October 26 by 3:00 pm Pacific

Math 126 Homework Assignment 22 Fall 2020

1. Use the Integral Test to show that
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diverges and
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converges. Use correct notation

for improper integrals and note that the lower limit of integration is 2.

2. Find all values of a, where a is a real number, for which the series
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3. For each positive integer n, let zn = 1 +
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x
. Use the ideas in this section to prove

that {zn} is a decreasing sequence of positive terms and thus convergent. For the decreasing part, it is
best to consider zn − zn+1 since the terms of the sequence involve additions. To show that all of the
terms are positive, look carefully at the inequalities next to the graph in the section.


